Name:

p [Composition of Two Functions] =

A) If fix)=x+1, g(x) =5x* and A(x) = -6, find the following.
1 g(flx) 2) flh(x))

B) If flx)=7, g(x)=2x and A(x) =-3x -8, find the following.
) (fog)x) 2) (hog)x)

Q) If filx)=8x-1, g(x) =x, find the following.
1 (gof)x) 2) (fogQ)x)

3) Is(fogQ)x) = (gof)(x)?

D) 1) If fix) =-x + 15 and g(x) = 2x* + 9, which of the following represents f(g(x))?
2

) —2x2+6 i) —2x-24 i) 2x + 24 iv) —2x°-6

2) If g(x) =6x and A(x) =10, which of the following represents (g o /)(x)?

i) 10x i) 60 iii) 6x iv) 36
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